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Topic:- Child Development & Pedagogy (CDP)

learners. / 3ITST &Y $&rraﬁﬁ' 3Ad ﬁr&nﬁh‘rm

1) Today’s classrooms how welcome

WA gl 2l
1. Talented / UTfQHTRATS

2. Diverse / fafaer
3. Gifted / Ufar8TTerelt
4. Special need / Taf® TG

Correct Answer :-

« Diverse / Tafasy

2) Short term deficit of sleep affects learners by: / siig &Y sreara i waA Rranfiay # wsnfaa
FCATE

1. increase in weight/ Wﬁq@

2. increasing the risk of diabetes/ HW DT YT d&edl

3. weakening immunity/ SR TfAL&TT

4. reducing concentration and memory/ TehIIAT 3K F{% DI HH BLAT

Correct Answer :-

« reducing concentration and memory/ TehTIIT 3R EH T Pl HH HIAT

3) Inequality in education has been reduced in India due to: / {R # fRY&T & 3rHATATT AAT A
¥ 5T FRUTFA A T §:

1. Religious intervention/ GTf3Ieh g&d&Iq
2. Social Reforms/ AT U

3. Constitutional provisions/ EIUTIA® UraeTe



4. Cultural diversity/ HIEHTdD fATaadr

Correct Answer :-

« Constitutional provisions/ HAYTfe Traere

4) NIOS is an example of __ agency of education. / TATSHTH, famm &Y Tt
FT TF 3GT80T ¢

1. non formal / 3R-3TqaTiRe®

2. formal / ATTaTRREH

3. NGO / GSffafl

4. informal / SRS

Correct Answer :-

« non formal / A-3g=nie

5) What are the family and community resources that children can draw upon collectively
called? / ¥ qTR@ER 3 Foferfie waTere Fa1 §, e W aeo aofes w9 & nsfla gt aad
82

1. Membership capital / GGEIdT C@ﬁ
2. Structural capital / ERAATCHD Cﬁﬁ
3. Fiscal capital / TSTRIGIT q\Gﬁ
4. Social capital / HTHATTSTh @

Correct Answer :-

« Social capital / HTHTTSI Gl

6) What are the ways to engage students in problem-solving strategies & extend their thinking?
| FHEAT Y AT Y WA 3 ST Y et FA 3 3T AT Y 30T Tg1 & a{d F41
8?

1. Use of concept formation, inquiry & synectics / STTURUT IS, TSATS 3R et @ suAeT

2. Addressing questions again & again/ SR-IR U Pl T AT

3. Talking to friends nicely/ GIEAT & 3T A ITc AT



4. Giving them extra homework / 3¢ 3R HEIAT B T

Correct Answer :-

« Use of concept formation, inquiry & synectics / STTYRUT TS, TSATS: 3R T3t &1 3ueT

7) What type of reasoning is characterized by moving from the general to the particular? /

W#ﬁﬂwaﬁrmm?mwaﬁ#aﬁ%ﬁwmmﬁ

1. Transductive reasoning / GRITH Ieh (giasquEq =it

2. Inductive reasoning / 3ITHATCHD s ($'I?':‘3CJ-CCI d=ifaa)
3. Deductive reasoning / fasTaicas d (Bsfdea fafeiom)
4. Hypothetical reasoning / UTdreheUcTcHh s (REEIDIGEEUSIGE)

Correct Answer :-

« Deductive reasoning / f@9TaTca® o (Bsfdea e

8) What is the part of memory that stores information that one is not consciously aware of? /

Tl T TE HIeT AT ST &, S T FIAT FITEHT FIAT & FoAeTeh! T T § SAAHRY €T el &2
1. Dual memory / &l €T

2. Explicit memory / TUE THIA

3. Implicit memory / Hﬂﬁﬁﬁ E{ﬁ

4. Conscious memory / s H{ﬁ

Correct Answer :-

« Implicit memory / safafea H{%

9) What is the phenomenon wherein previous exposure to a word or concept makes later
recollection easier? / 9§ €I 4T ¢ wa e ereq AT HTURON & g4 & HIF & T F 915 H1
FTHIOT 3T g ATl 82

1. Priming / 9IS {3HaT

2. Deriving / ag?ﬂﬁf

3. Subliminal perception / 3Tddel Tca&fIIehToT
4. Subconscious memory / Haddel THId



Correct Answer :-

« Priming / ST& 3T

10) Children are asked to narrate a story during the administration of which test? / e adtam
& waTee & GNIT qoa1 $T FETAT GoATT & T g7 oren §2

1. Children’s Apperception Test (CAT) / STel-3Tecial <] U177 (FTLY)

2. Minnesota Multiphasic Personality Inventory (MMPI) / faATeT FeEIth ol TdcTolel Sdedl
(THUHAUIIS)

3. Wechsler’s Intelligence Scale for Children (WISC) / da€eRR Sc¢foroic Tohel B [es

(FeogISTHEN)
4. Thematic Apperception Test (TAT) / fauT-3TcAag= T&ToT (1T

Correct Answer :-

« Children’s Apperception Test (CAT) / STel-3TedaTel GLI&TOT (HITET)

11) Learner autonomy is a characteristic of: / fvamreff Taraaar g $r fadwarg?
1. Formal education / 3iTqamfes et

2. Traditional education / TRUT fRy&T

3. Progressive education / JaTfarefTer frer

4. Inclusive education / THTARY TRy

Correct Answer :-

« Progressive education / JTfcrefer fremm

12) Raven’s Progressive Matrices Test measures: / Y37 %T WA Afew ere AMGaT §:
1. Intelligence / gi?

2. Personality / e Tthcd

3. Attitude / AT

4. Motivation / QIO

Correct Answer :-



« Intelligence / @

13) According to Piaget, children’s development is progressing through 4 stages. /
e & TR, T=a 1 T 4 ot & ATeTT ¥ waTfy W TET B

1. Physical/ #ifd®

2. Emotional / HATIATIHD
3. Functional / EFI'CﬁT{o‘:I?F
4. Cognitive/ IJTH®
Correct Answer :-

« Cognitive/ IIMTH®

14) Many people who were alive at that time remember exactly where they were and what they
were doing when they heard that Rajiv Gandhi was assassinated. What type of memory is

displayed here?/ﬂ%mmﬂmﬁﬂgﬁ@ﬁﬁ?mmﬁmﬂaﬂgiﬁm
2,3 AF A IS fF T Fel TAR T FATF @ T | T@T v 9w Ay Tpfer gt arg @2

1. Flashbulb memory / Cﬁjaﬁ A
2. Declarative memory / BIVUTIcHS TH I

3. Sensory memory / TdGl H{%
4. Semantic memory / 39T T

Correct Answer :-

« Flashbulb memory / G@eITa Tfa

15) Learners are not included under “Exceptional Category”. / fRranfd=i ¢
FqaTETeHS A0y & Iedta enfAer 8t faham Smar|

1. Normal / HTURUT (AT

2. Retarded / g (Re1és)

3. Gifted / UfasRITeT (IFee)
4. Slow / & (Helh)

Correct Answer :-



« Normal / HTUROT (ATTe)

16) If a learner has difficulty in reading, then what type of learning disability? / Ife v fRramedt
P TG A FISATS gl &, a7 30 FFH TR A 3109 raTAar 2

1. Dysgraphia / f3gamithar
2. None of these / 37 H PIS el
3. Dyslexia / [3€clfraar

4, Dyscalculia / %W?—Fgﬁf&ﬁ

Correct Answer :-

« Dyslexia / Brafdaar

17) An infant takes time to distinguish the father from other men. This aspect of development
happens because of the following principle. / Teh fﬂ'{[ I ar = 3= g'{?‘ﬂ' ¥ I A H AT
T 8| T #1 9g Tiewior e Rigwia & FRoT @A 8|

1. Whole to Part / C[Uﬂ' q 3

2. Centre to Periphery / thg, & ORI

3. Part to Whole / 311 & ‘{U‘f

4. General to Specific / @Y 4 fafdre

Correct Answer :-

« General to Specific / G & fafre

18) The famous physiologist whose work on classical conditioning influenced the field of child
psychology is: / 9fager aR-f3Far fawmsit (Reforaaitoree) foraes e Tl (FATHS
Harerfen) 9T fHAT 11 FF a1 AN & AT FY yHRT FIATE, T8

1. Edward Thorndike / TSd$ UTeisTSh
2. Wolfgang Kohler / aTethaaT PhlgeR
3. Jean Piaget / ST fUama

4, Ivan Pavlov / SdTel qradlid

Correct Answer :-



 Ivan Pavlov / SdTd UTaelld

19) The proverb “Nothing succeeds like success” is applicable to which of the following laws of
learning? / FgTad “Teh HHAAT & d1G e AHoAT fAed §1” 3T & fore s o amg ghar
&

1. Law of exercise /37919 & [T
2. Law of readiness / dUdT & fHT#H
3. Law of effect / THTT & AIH

4. Law of success /AHoldT & [IH

Correct Answer :-

« Law of effect / UHTT & fAI&H

20) The characteristic of behavioral objective is: / STdgIR® 32?&11' I Fdware:
1. None of above /Wﬁ@faﬁéaﬁ

2. Observable and measurable / 3dalha 1T 3R TRAT

3. Observable and Immeasurable / 3dallhad R FATHT

4. Non-observable / IR-3aclleheii

Correct Answer :-

« Observable and measurable / 3Tdelichaid 3R TRAT

21) Which of the following is a Humanistic view of motivation? / fAFfaf@d & & 9om &1
AATATATar T fSehIor 47 82

1. Need for self-esteem and self fulfilment / ITcHTFATA T ITAIDAT 3T 3TcH F[m
2. Beliefs, attributions for success and failure / 9O, THIdT BT AT 3R 3 wear

3. Goals, expectations and self-efficacy / o1&, 3G 3R AT THTIRIRAT

4. Incentives, reinforcers and punishers / ISIERE , g¢ ,Cof.hdcl 3R gus e aren

Correct Answer :-

« Need for self-esteem and self fulfilment / HTcHTFHT I HTAIThdT IR HTcH JiA



22) How many primary stages of development are present in Kohlberg’s theory on moral

development? / Afas R W Fieraet F Riguia # R & fraer wrafas wor #Algg §
1.3
2.4
3.2

4.6

Correct Answer :-

23) advocated that all children have the potential to learn. / F AT frar @
wsft geat & daa A awar @

1. John Dewey / At éﬁf

2. Freud / BIAS
3. Friedrich Frobel / %gReh Wied

4. Maria Montessori / ATRAT HAleca)

Correct Answer :-

e Friedrich Frobel / s Hiae

24) are creative skill practice books for children for the enrichment of their creative

thinking. / T B TP 9 & "Haedq & e FATes Sivre A & i s g1

1. Enrichment books / HH{g W
2. Idea books / fTaaR ‘{B?I%ﬁ

3. Integrated books / Tehlehd ‘I‘vT‘ﬁF

4. Creative books / {dellcHD T&d &b

Correct Answer :-

« Idea books / TR W

25) The key agent in Erikson’s Psychosocial stage of “Industry versus inferiority” is: / “ufeyw

T A & UG & TG @RUT H Y UeH § -



1. Family / URaR

2. Parents / ATAT-TaAT

3. Primary caregiver / WTAf3® Terae

4. Teachers and peers / 18T 3R Fgurér

Correct Answer :-

« Teachers and peers / 18T 3R FEurdt

26) The passion for doing anything in the absence of any compulsion or reward is ./

PR MaamasmF oy dgs s SITH_ 2l
1. Intrinsic motivation / S hITT JTRUIOT

2. Extrinsic motivation / TTHTToTeh 3TTRUIOT

3. Achievement motivation / 3TclTe¥T UROT

4. Level of Aspiration / 3TehI&TT T TAX

Correct Answer :-

« Intrinsic motivation / < ThaTa ITTROTOT

27) Which of the following is NOT a form of misconception? / fFafefaa # @
U TTdd YR 8] 82

1. Vernacular misconceptions/ HATJHTHT frear g@'

2. Cognitive conflicted ideas / H<TelTcdd TREW AT faar
3. Non-scientific beliefs/ 3Td=ATTA® ATeIATT
4. Preconceived notions/ G@TIRT g

Correct Answer :-

« Cognitive conflicted ideas / HTATcHD TEWR Ta TaaR

28) Who strives to answer such questions as well as to understand, explain and
predict behaviors that occur throughout the lifespan? / Siaq R §11 a1d a8

P FHA, JHH 3R HiTwarfl $313 &1 1A $31 & J1Y-91Y TN aTdl & Sia1d B
ear8?



1. Developmental psychologists/ fderaTcH® FAIdATAD

2. Vygotsky theorist/ AT FAGITPR
3. Fraud theorist/ SN@TSY faaeh

4. Erikson theorist/ TRehTA Iri\-lfs\idml{

Correct Answer :-

« Developmental psychologists/ TaepTaTcHE AATd=TTAD

29) To motivate an auditory learner, the teacher should encourage him/her to

./ gaur fRrenfdal & ia s & forg, Riere o I Wieafed s afge &
|

1. use reading material in small units / SIET SRISTAT H TS FTHUT T STITIT Y |
2. participate in club activities and skits etc / Feld T ITATATAAT 3R ATed (Fave) 31T F HI9T |

3. participate in discussions / a1 & giFafoa ol

4. use coloured pen and highlighters while studying / EIETSc BRI AT T Had 3R HENECREAR R
Gyl

Correct Answer :-

« participate in discussions / Tl & iFATed o

30) The effective learning as per Piaget’s theory is . | T & Rrgia & SR yyrd
rftrma 2l

1. content acquisition /W L CING
2. root memorization / H{el ITq ILAT

3. active learning / TTeha 37T

4. reading by heart / TehIIAT & UG

Correct Answer :-

« active learning / TTehd 3TTAITH

Topic:- General English(L1GE)

1) Read the following passage and answer the question that follows:



What is seen and heard over popular media has a lasting impact on the general public. That media is
a vehicle of opinion formation is no bone of contention, what is to be argued upon, though, is
whether the drivers of this vehicle have lived up to their responsibility to uphold a nation’s
sentiments and progress as the fourth estate or not. Sensationalism and popularity have long
overtaken factual reporting meant to make the consuming public aware. TRP ratings are the
deciding factor to what makes for good news and what doesn’t. A recent survey pointed out to the
fact that media propaganda and consistent patterns of reporting can and have heavily influenced the
cornerstones of democracy, this is no novelty though. Following what the mob says or believing the
voice that is the loudest has been happening since time immemorial but are these voices
contributing to the welfare of commoners or increasing their quality of life is a question that looms
large.

According to the passage, what is it that determines which event/incident is published in the media?
1. The urgency or veracity of the news item.

2. The number of people who can be impacted by the issue covered.

3. The money paid for the particular news item.

4. The television rating points value a news item is believed to hold.

Correct Answer :-

» The television rating points value a news item is believed to hold.

2) Read the following passage and answer the question that follows:

What is seen and heard over popular media has a lasting impact on the general public. That media is
a vehicle of opinion formation is no bone of contention, what is to be argued upon, though, is
whether the drivers of this vehicle have lived up to their responsibility to uphold a nation’s
sentiments and progress as the fourth estate or not. Sensationalism and popularity have long
overtaken factual reporting meant to make the consuming public aware. TRP ratings are the
deciding factor to what makes for good news and what doesn’t. A recent survey pointed out to the
fact that media propaganda and consistent patterns of reporting can and have heavily influenced the
cornerstones of democracy, this is no novelty though. Following what the mob says or believing the
voice that is the loudest has been happening since time immemorial but are these voices
contributing to the welfare of commoners or increasing their quality of life is a question that looms
large.

What does the word cornerstone mean in the context of the above passage?
1. Stone
2. Pillar
3. Basis

4, Threat

Correct Answer :-



3) Read the following passage and answer the question that follows:

What is seen and heard over popular media has a lasting impact on the general public. That media is
a vehicle of opinion formation is no bone of contention, what is to be argued upon, though, is
whether the drivers of this vehicle have lived up to their responsibility to uphold a nation’s
sentiments and progress as the fourth estate or not. Sensationalism and popularity have long
overtaken factual reporting meant to make the consuming public aware. TRP ratings are the
deciding factor to what makes for good news and what doesn’t. A recent survey pointed out to the
fact that media propaganda and consistent patterns of reporting can and have heavily influenced the
cornerstones of democracy, this is no novelty though. Following what the mob says or believing the
voice that is the loudest has been happening since time immemorial but are these voices
contributing to the welfare of commoners or increasing their quality of life is a question that looms
large.

What can you infer from the above passage?

1. That media has the ability to mould civic estimation
2. That media has made leaders behave differently

3. That media has ruined public life

4. That news is no longer a medium that is reliable

Correct Answer :-

e That media has the ability to mould civic estimation

4) Read the following passage and answer the question that follows:

What is seen and heard over popular media has a lasting impact on the general public. That media is
a vehicle of opinion formation is no bone of contention, what is to be argued upon, though, is
whether the drivers of this vehicle have lived up to their responsibility to uphold a nation’s
sentiments and progress as the fourth estate or not. Sensationalism and popularity have long
overtaken factual reporting meant to make the consuming public aware. TRP ratings are the
deciding factor to what makes for good news and what doesn’t. A recent survey pointed out to the
fact that media propaganda and consistent patterns of reporting can and have heavily influenced the
cornerstones of democracy, this is no novelty though. Following what the mob says or believing the
voice that is the loudest has been happening since time immemorial but are these voices
contributing to the welfare of commoners or increasing their quality of life is a question that looms
large.

Which of the following statements is true as per the passage?
1. Journalism in the recent past has been the torchbearer of truth.

2. Media has been the best vehicle of opinion formation.



3. Media has the power to influence the common public.

4. Media cannot mould public opinion.

Correct Answer :-

e Media has the power to influence the common public.

5) Read the following passage and answer the question that follows:

Bees are the most useful of all insects. They live in a hive. We get honey and beeswax from bees.
Purified and bleached beeswax is used in the production of food, cosmetics, and pharmaceuticals.
Honeybees are social insects that live together in highly organized colonies. Each member has a
specific job to do. A single honeybee cannot grow or survive by itself. The three distinct kinds of
honeybees in a colony are queen, worker, and drone. The queen’s function is to lay eggs. On an
average she lays around 1500 eggs in one day. The drone or the male bees are few in number and
their main function is to mate with the queen, after which they die. The worker bees perform a
variety of jobs. They collect nectar and pollen to make honey. They produce wax to make new honey
combs. They guard the hive entrance and they feed the young ones.

What is the function of a queen bee?

1. To lay the eggs.
2. To go out and fetch honey.
3. To divide the work.

4. To monitor the work of other bees.

Correct Answer :-

« To lay the eggs.

6) Read the following passage and answer the question that follows:

Bees are the most useful of all insects. They live in a hive. We get honey and beeswax from bees.
Purified and bleached beeswax is used in the production of food, cosmetics, and pharmaceuticals.
Honeybees are social insects that live together in highly organized colonies. Each member has a
specific job to do. A single honeybee cannot grow or survive by itself. The three distinct kinds of
honeybees in a colony are queen, worker, and drone. The queen’s function is to lay eggs. On an
average she lays around 1500 eggs in one day. The drone or the male bees are few in number and
their main function is to mate with the queen, after which they die. The worker bees perform a
variety of jobs. They collect nectar and pollen to make honey. They produce wax to make new honey
combs. They guard the hive entrance and they feed the young ones.



What is the function of worker bees?

1. Collect the nectar and pollen to make honey.
2. Assist the drone bee or male bee.

3. Assist the queen bee.

4, Lay the eggs.

Correct Answer :-

« Collect the nectar and pollen to make honey.

7) Read the following passage and answer the question that follows:

Bees are the most useful of all insects. They live in a hive. We get honey and beeswax from bees.
Purified and bleached beeswax is used in the production of food, cosmetics, and pharmaceuticals.
Honeybees are social insects that live together in highly organized colonies. Each member has a
specific job to do. A single honeybee cannot grow or survive by itself. The three distinct kinds of
honeybees in a colony are queen, worker, and drone. The queen’s function is to lay eggs. On an
average she lays around 1500 eggs in one day. The drone or the male bees are few in number and
their main function is to mate with the queen, after which they die. The worker bees perform a
variety of jobs. They collect nectar and pollen to make honey. They produce wax to make new honey
combs. They guard the hive entrance and they feed the young ones.

According to the passage, how many eggs does a queen bee lay on an average?

1. 1000
2. 500
3.2000

4. 1500

Correct Answer :-

8) Read the following passage and answer the question that follows:

Bees are the most useful of all insects. They live in a hive. We get honey and beeswax from bees.
Purified and bleached beeswax is used in the production of food, cosmetics, and pharmaceuticals.
Honeybees are social insects that live together in highly organized colonies. Each member has a
specific job to do. A single honeybee cannot grow or survive by itself. The three distinct kinds of
honeybees in a colony are queen, worker, and drone. The queen’s function is to lay eggs. On an



average she lays around 1500 eggs in one day. The drone or the male bees are few in number and
their main function is to mate with the queen, after which they die. The worker bees perform a
variety of jobs. They collect nectar and pollen to make honey. They produce wax to make new honey
combs. They guard the hive entrance and they feed the young ones.

Where do the bees live?

1. In a kennel
2. In a nest
3. In a hive

4, In a tunnel

Correct Answer :-
e Inahive

9) Fill in the blank with the correct option in the given sentence:

The small grooves in long-playing records are called --grooves.

1. macro --

2. micro --

3. multi --

4. poly --

Correct Answer :-

e micro --

10) Fill in the blanks with the correct option in the given sentence:
The hall is attract-- decorated and the decorat-- have done a splendid job.
1. --ed ... --ion

2. —-ive ... —-ively

3. --ively ... --ors

4, --ion ... --or

Correct Answer :-

o —ively ... --ors



11) Which of the following options best combines the given sentences?

Mr. Joseph is a writer. He writes in a powerful style.
1. Mr. Joseph, a writer, write in a powerful style.

2. Mr. Joseph, having powerful style of writing.

3. Mr. Joseph’s writing is a powerful style.

4. Mr. Joseph writes in a powerful style.

Correct Answer :-

e Mr. Joseph writes in a powerful style.

12) Choose appropriate articles for the given sentence:

Mimeis ____type of performance carried out without _____ use of props or language.
1. No article required... No article required

2. No article required ... an

3.a..the

4, the ... an

Correct Answer :-

13) Choose appropriate article for the given sentence:
MP (member of parliament) visited our school today.
1. No article
2.A
3. The

4, An

Correct Answer :-
e An

14) Choose the appropriate determiner for the sentence given.



of the shops in our area are closed on Sundays.
1. Any
2. Most
3. Every

4, Much

Correct Answer :-

e Most

15) Choose the appropriate option that rewrites the given sentence in its passive voice.
The company pays a lot of taxes to legally bring goods into the country

1. A lot of taxes by the company are paid legally bring goods into the country

2. A lot of taxes are paid by the company to legally bring goods into the country.

3. The country is paid a lot of taxes by the company to legally bring goods.

4. Lot of taxes by the company is paid to legally bring goods into the country.

Correct Answer :-

« Alot of taxes are paid by the company to legally bring goods into the country.

16) Choose the appropriate option that rewrites the given sentence in indirect speech:

The doctor said to the patient, “You should quit smoking immediately.”
1. The doctor said to the patient you should quit smoking immediately.

2. The doctor said to the patient please quit smoking immediately.

3. The doctor asked the patient that to quit smoking immediately.

4. The doctor advised the patient to quit smoking immediately.

Correct Answer :-

» The doctor advised the patient to quit smoking immediately.

17) Choose the appropriate synonym for the highlighted word in the given sentence.

He refused to admit his mistake.



1. allow
2. argue
3. say

4, confess

Correct Answer :-
e confess

18) Choose the appropriate tenses to fill in the blanks in the given sentence :
He__ shortofcash,sohe___ me a post-dated cheque.

1. has been, has been giving

2. will be, will give

3. is, had given

4. was, gave

Correct Answer :-

e was, gave

19) Choose the appropriate antonym for the highlighted word in the given sentence.

Chefs today create new dishes by putting together interesting foods.

1. Manipulate
2. Fuse
3. Destroy

4. Defuse

Correct Answer :-

e Destroy

20) Choose the appropriate conjunction for the given sentence.

She will not remember about her guitar class you remind her.

1. when



2. s0

3. unless

4. if

Correct Answer :-

e unless

21) Choose the appropriate prepositions for the given sentence:

The expert wrote authoritatively __ the topic____ exercise and its effects _ mental health.
1. with ... on ... with

2. on ...about ... in

3. about ... of ... on

4. against ... of ... towards

Correct Answer :-
e about...of ... on

22) Choose an appropriate modal for the given sentence:

We achieve anything with our willingness.
1. can

2. might

3. Won’t

4, would

Correct Answer :-

23) Choose the option that best explains the highlighted expression:
I am prepared to compromise, but Raja won’t budge an inch.
1. allow my opinions

2. ignore my ideas



3. won’t change his opinion

4. disagree with me

Correct Answer :-
« won’t change his opinion

24) Choose the option that substitutes the given phrase appropriately.

Forceful or fiery speeches
1. Combat

2. Whiplash

3. Debate

4. Haranguer

Correct Answer :-

e Haranguer

25) Choose the most suitable pronouns for the given sentence:
____ratherpride____on____ cooking.

1. He ... him ... your

2. It ...its ... your

3. 1...myself ... my

4. 1... me ... their

Correct Answer :-

26) Read the sentence carefully and choose the option that has an error in it:

Priya loosed her pen when she was playing.
1. Priya loosed

2. when



3. she was playing.

4. her pen

Correct Answer :-
e Priya loosed

27) Choose the right tag:

You're watching a soap opera, ?
1. don’t you

2.isn’tit

3. are you

4. aren’t you

Correct Answer :-

e aren’tyou

28) Choose the appropriate tense to fill in the blank in the given sentence:

If he had gone to Agra, he the Taj Mahal.

1. have been seen
2. saw
3. had been seen

4. would have seen

Correct Answer :-
o would have seen

29) Choose the right tag:

Your friends can help you, ?
1. won't they

2. can they



3. can't they

4. don't they

Correct Answer :-

e can't they

30) Rewrite the following changing the active sentence to passive.

They jumped across the road when they saw the police van.

1. When the police van was seen by them they jumped across the road.
2. When see police van by them they jumped across the road.

3. When police van was been seen by them they jumped across the road.

4. When police van seen by them they jumped across the road.

Correct Answer :-
» When the police van was seen by them they jumped across the road.

Topic:- General Hindi(L2GH)

1) HraT fih HRI v, IR vaT Wi
e g At v, 9fS s Sim i

AFERIGR GHR O 9T Hid PRI
YHarpd GohdT git 3F 31 3Fd 9 S |

ST Ui H1 UgH 19 U T Uy BT IR JaIgd:
- T’ BT @ s 71 72

1. el ol

2. pael AT

3. 30X @A

4, hae faoter

Correct Answer :-

o S T



H1aT fihe BT} v, A v T i
e g At vy, 9fS s Ssig i

AFHERIGR HR S §4T BT Bl
YHarhd gohdl it 3d IST 3 7 S|

Iued U= ) Ugeh? 19 U T UY HT IR Id133:
- ‘Hie’ X 572

1. fagel

2. dcaH

3. dgd

4. galr

Correct Answer :-

saHT fead @t B o1 WAl I W AR §, S g8 A s € Rigeh
%lgﬁﬁaﬁaﬁmm% AfFT Fall-Faft 39 off Ay
T, 7 A fee T e # AR, e e @, wd g
aﬁrmaﬁaﬁﬁuﬁ?ﬁl%&m#aﬁmmmwwawmaﬁ &
ﬁﬁwwﬁﬁmmwtmm%lw -, gife-arer R off qem & 3@ S ad @
mm#ﬁaﬁm%&mﬁmmaﬁ v § W e 3 ¥
mm'ﬁﬁﬁmmﬂ?mmﬂﬁ%lmﬁ ST & b # a
#mm#rgmaﬁﬁmm?mamaam Wﬂ#mﬂ»—ﬁr&rﬁmw—a% cif
AEFT FH W &, ﬁwﬁ#mmaﬁm waﬁwmmaﬁ%ﬁﬂaﬁm%lﬁrm%
a*sﬁa:r%m‘rafrahmma‘lmé&mmm#ﬁ%ﬁaﬂ&mm‘umﬁml
ST Y AT e §1 T ) e A 3% g9R A g faat & qvw aar 3w AfFT T F 1 v Ser
ar$ 3R o B, S A FH A o ¥ IR @ A O 3E A g T F o W E, Fo 3@ A
ﬁmﬂmﬁsﬁi‘# a%m*mmmmm%lwmﬂaﬁamm#ﬁwm AR
FART AR T @ ¥ &« weh-wet ARar o &, mmmaﬂsﬁmﬁ#m%lsﬁtaﬁr&m
¥ AT A YHE F 4T ¢, AT IHHT TAT ¢ & Arar g

39T AGHIT T IGHT A S AT G FT 3o IdA34:

7- el smeet i FqEar F R e § qutEr Smar §?
1. I

2. 95T

3. %dl

4. el

Correct Answer :-

o JIIYT



4) SFER! ® T Y Sq1eT §iSE JHST oaT 81 3W 99 fhdt sreHt 3t ugd IS &1 99%W Fel Ued 7,
@ SV YT BEd T T TIHT TP § U1 SUP WA, IS FRIUS AR A 39 98 ved S § 8, sHbT
e 8 far o wwarn A AT AR 7, srE 835 T 9t M 81 Righ &1 TU 4R HR A 71 par o
9gd TR TR g, afed F-0 I oft sy o & wmar B, fog 71 3t wft sy wwa 8 g, A 3@
foraa Te! T ) 7RY, TR ok TR1E, TS g3 9T A 314 &, ISP A8 W HH srdaty F o1 oft a8
s Tt Izma ¥ 918 THTY AR $AT R AdT 8, W THA a1l 3@ H G B T @1 I AT W RS
faure Wl v & o T 81 gE@-3:, gi-ary et of qun # 3@ sqad 716 dan wivay-afa & o
701 €, 3 9t S WRTHTET B UgT T §, W 3MeHI IH I9G® Hedl & | USIUN BT 5T 3FIeR! Harad
Hremo TOR & g Iugad w81 81 AT 7, URaaRmal #t snpier & war ga=n g 3 82 | st # 3%
g9 8 faar Sirar? dar TR1E T8 fi, IR 39 $uug & e 9] 3d g, oft dise) &1 wd €, fhedt @
ASTS-3TST Tl R4, TR ITd B 7T @1 91 @ e WY g &1 w1 wirar B,  Siaq & sire=f & far
FRd g1 3R d 3¢ BT FATd TR F 1 WG o1d ) G [ Hga aTd | Sa ) Frara 9= g1 v &
faorg A 3V TR Ft g sifaal § 7oy 9471 far | AfeT 18 71 U Bier Uig 3R oft 8, S S9E W S e gl
3R @5 ¢ der | fore o & g6 TTUT BT T4 HRd &, $O S ¥ fHerd-gad o A afsar & ars' &1+t wa
Fd | T AN A9 P! MG I9HW! B Y Fea), TR gURT far T 78 1 9a wft-vaft arar ofi B,
m&ﬂéﬁ%@uﬁaﬁaﬂ%@%ﬁm%l T oft S Aot F 39T ST Yebe FR AT B, 3T SHHBT R
T |

ITY TR D1 USHR A I T ¥Y BT IR T4133:
U - AfSad 99 J aread 82

1. gige o

2. gigHAT ol
3.3 § PI$ A
4. 58 da

Correct Answer :-

. & da

5) WFER] | T JaH SUTST §ia 1= U STl 8 | §H 9Id {2l 3MaHt &) Ugd aof &1 3a%% He-T 918d @,
at I YT FHEd T TYT TIYT 9B 3 a1 3P WA, TS fFARTUg wigwiar A 3§ gg uedt ¢ & 8, 33w
frera €Y fpar &1 wepar| TR W AR €, 1) 8 T Y e € Riw BT 0 yRor H7 adt 71 o oft
g4 9 TR 2, afed F-0 I it sy 3 § wrar B, fpg 719 B wft iy e 78 g, 9 3@
1T areY T 3t ARy, 9re ORi TR, 91 g5 U 91 $19 &, 39 dgY R HY ey ot o oft At
s Tt v ¥ 918 THTY AR $Ad R a1 8, W E af 39 Ht G g T T\ I AgY W W
faure Wt v & o T 81 gE@-g:, gi-ary et of qun A 3@ sgad 76 dan wivay-afva & o
701 €, 3 Tt A WRTHTET F1 UgT T §, W 3 IH I9FE Hedl 8 | TGO BT Fa-T 3FIER! Hard
HreTu TR & oY Sugad e €1 T 7, yRaarRal # aniiet  Fr gau 81 W 82 Y srvdfilet # 3%
g 181 fear wirar? SuR IR1E T8 fia, TR U0 uug & fU aure] Tad €, ot dis®) BT 374 ©, fhul |
ASTS-FAIST 78] H, IR 91 DR TH W7 o1 § fbr ot Igam §1 Fe1 oirar 8, Q Sfiaq & smexf &t =
Fd &1 3R q 3 BT TaTd TR | T W@ o1a @) UE [ Heaq a1 | Srar ») e 9 81 v &
oo = 39 SR @1 Jw sfaal § v 741 faan | Afe= 19 &1 v Ster uig oiR oft 8, o Suw & § e 3
3R a8 ? oo | for ordf F g9 TUT &1 YA $d 3, $O S A FHrera-gera o A afar & arsy &1t yam
Fd | PO AT A9 P! MG 9B B! § GAIE Fa4l, TR gURT faar T 181 81 9a Fuft-wff arar ofi §,
$sﬂéfﬂa21&%%uaaaméaﬁﬁm%| 3R 1t w3 Afoal F uHT AT UPe HR AT B, ST SHBT I
T |



SUT TR P UgHR A2 IR T Uy HT IR gaT3d:
- ST’ | U g2

1. 37

2.

3. 9o
4. 3T

Correct Answer :-

6) STHGRI # YT N STST FSFI THST 1T 21 89 o fordt 3reft #) ugd g &1 Ja%w He-T dared o,
Al S/ YT HEd T 1 YT TIYT 995 @ T TP WA, Iqat FFR1ug TRWET A 37 98 uedt ¢ & 3, st
frera €Y fpar 1 wepar| TR W AR €, 1) € T Y o € Riwd BT 0 yror #7 adt 1 o oft
g4 TR TR 8, afed F-0 I it sy o & wrar B, fpg 719 3 wft vy wwa 78 g, A 3@
= =reY e F ARy, Tre SR TR1E, TSI g8 9T YT ST9 &), 39 e¥ R FH syt #t o oft A8
fears Tt Az ¥ AR UHTY IR $Ad B AdT 8, W THA @ 39 Bt G g TSN @1 Iqh A W RS
farg Wt v & o1 T 81 g@-g:, gi-ary o gun A 3@ sgad 76 San wiay-gfva & o
701 €, 3 Tt ITH WRTHTHT H1 UgT T §, W A IH 995 P Hedl 8 | TGO BT Fa-T 3FIGR! Hard
Hrero HAR F Y Suged e 21 AT A, WRAaTRG) 1 Pl A w1 g 8 6 22 i srfieT § 37
g g faar Sirar? dur IR1E 81 i, IR 39 $uug & fIe s9re 39d §, ot dise) & od €, fhedt @
ASTS-FAIST 78] H, IR 91 DR TH W7 o1 @ fbr ot ggar §1 Fe1 orar 8,  Siaq & smexf &t =
FRd &1 3R d 3 BT A9 TR | 71 W o1a a) g [ Heaq a1 | Sra &) Frara 9 g1 v &
faorg A IV IR Ft g sfaal A 7oy 941 faar | e 19 1 TP Bier WiE R oft 8, S Sud FH S e 8l
3R 98 ? oo | for ordf F g9 TUT &1 YA $d B, $O S A FHrera-gera o # afvar & arsy &1+ ya
HYd &1 O A1 A9 B UGS I9P P! | JAAY Hel, IR FART =R Ta1 76 21 ¥ Hft-soft Arar ot ,
a?sﬁéfﬂga%r%uaéammﬁﬁm%l 3T oft S Afeat F 9T AT Yebe B AT B, TS SHBT R
T |

ST TR HI Ugh 1 U 7Y Uy HT 36X Jarsd:
- TGIUN BT T BT 82

1. GFATA

2. JRIT

3. fasns

4. 3leY

Correct Answer :-

7) SFGER) § YT T SU1ST gfga 1= U ST 81 89 o9 fB} et o1 ugd gf &1 Ja5® He-T dred ©,
I T Fed 1 TYT TIHI 9B g a1 PP WAy, I fFARTue Afgwiar A 3§ ug uedt ¢ & 8, 39T
e Y far o wwar A AT AR 7, srE 83 T At ST 8 Righ &1 TU 4R HR A 71 par o



9gd TR TR 8, afed F-0 I oft sy o § wimar B, fog 719 3t wft iy o 8 g, 9 3@
foraa Te! T Y 9RY, TR ok TR1E, TS g3 9T ITHA 3T &, ISP A8 W HH srAaty Ft o1 oft a8t
e Tt Iz ¥ 918 THTY AR $AT R AdT 8, W THA a1l 3@ H g1 B T @1 I AT W WS
faure Wl v & o/ T 81 gE@-g:, gi-ary et of qun A 3@ sqad 716 dan wia-gfa & o
707 €, 3 9t S WRTHTET B UgT T §, W 3MeHI IH I9G® Hedl & | UGIUN BT 5T 3FIeR! Harad
T HAR F Y Iuged 76 81 AT A, WRAaTRmG) 1 Pt A w1 g 8 W6t 22 T it § S
g9 8 faar Sirar? dar TR1E T8 fia, IR 39 uug & e 9] 3d g, oft dise) &1 wd €, feedt @
ASTS-TST Tl R, TR I1d B 7T @1 1 @ e WY g &1 w1 wrar B, 9 Siaq & sme=f & far
FRd g1 R d 3¢ BT FATd TR F 1 A o1d ) UG [ Hga aTd | Sa ) Frara 9= g1 v &
faorg A 3 TR Ft g sifaal § 7oy 9471 far | AfeT 18 $1 U Bier Uig 3R oft 8, S 39 FH S e gl
3R @5 ¢ der | fore o & g6 TTUT BT T4 HRd &, $O S ¥ fHerd-gad o A afsar & ars' &1+t wa
Fd | T AN A9 P! MG I9HW! § G9E Fea), TR gURT far T 78 1 9a wft-vaft arar ofi ,
w&ﬂéﬁ%@uﬁaﬁmé@%ﬁm%laﬁ?aﬂaréﬂﬁﬁﬁmmmwém%,mmm
T |

ST T DI UGHT A1 G T YUY BT I qa183:
- IR el H foby SiaR &1 forep 181 ga 82
1. I

2. f’e

3. 9141

4. dl

Correct Answer :-

8) R ® T WA SUTGT YIS THS STal 81 §H oid fhft 3t %) Ugd ool »1 995 Hg-1 ared o,
at I YT FHEd T 1 TYT TIYT 9B 3 qT 3Yb WA, 3@ fFARTUg wigwar A 3 gs uedt ¢ & 8, s3er
e T far o wwan T W1 AR 7, sadt 83 T 9t M 81 Right &1 T U yRor HR At 31 pam ot
g4 9 TR 8, afed F-0 I it e am & wrar B, frg 719 B wft iy e 78 g, 9 3@
o= areY T 3 ARy, 91e Ok TR, 91 g5 U 91 $19 &, 39 dgY R $ ey ot o oft At
foarg 3| dumE # AR THTY IR HAd P AT €, W HA df 3@ W G g 8T @1 IqP g W RATE
faurg Wt v & o T 81 gE@-g:9, gi-ary St of qun A 3@ sgad 76 San wivay-gfva & o
701 €, 3 Tt A WRTHTET H1 UgT T §, W I IH I9FE Hedl 8 | TGN BT Fa-T 3FIER! Hard
Hrer TUR F Y Suged T8 81 AT A, HRAAIRE! B pieT § T gou 8 W& 82 Tl 3T § 3=
g9 e faan Sirar? R TR 981 i, TR 39 ouwg & e sares wad €, St dises o #ed €, i @
ASTS-FAIST 78] H, IR 91 DR T W7 o1 § fbr ot Igam §1 Fe1 9rar 8, Q Siiaq & smexf &t =
FYd &1 3R 9 3¢ BT A9 TR A 37 T 71a ) WAE T Fgaq avrd | [Tu &) e arm= 81 & &
oo = 39 SR @1 Jw sfaal § v 941 faan | Afee 19 &1 v Ster uig o oft 8, o Suw & § e B
3R 98 ? oo | for ordf F g9 TUT &1 YA $d 3, $O S A FHrera-gera o A afvar & are &1t yam
FRd & TO ANT 99 B MGG Iap B! H TIAT Fol, TR gURT faR Tr 781 31 3 wfi-aaff urar ot 8,
$sﬂéfﬂa21&%%uaaamaaﬁﬁm%|eﬁ?ﬂﬂﬁﬂﬁﬁﬁmmmwéﬁﬁ,mmm
T |

ST TN DI UGHR A I T ¥Y BT IR I4133:
ue- 19 A fpger v i aF Sar @ ?

1. 9T



2. d
3.

4. el

Correct Answer :-

9) SR ® T WA SUTGT YFSEI THST STa 21 §H o et 3t #) Ugd oof &1 995 He-1 ured 3,
al S T HEd 1 T JIHT 999 @ AT SHP WA, IqH! FFRTug FRWET A 32 98 uedl ¢ &t §, 39t
Hrerg =81 foran S wrar | T WM ARG €, Sadh g5 T @Y ST g Rig BT U YR B At 71 P o
954 TR TR 8, afed F-30 I it sy o § wrar B, fpg 71 3t wft iy o 78 g, A 3@
fra 918 e 3 aR), IR SRA TRE, TS §F 9 ArA 319 o, SUP AeY W HUt sRiaiy & srar off gt
s Tt Az W AR TP IR $Ad B AdT 8, W THA @ 39 Bt G g TSN @1 Iqdh A W RS
fawrg vt =u @ B T 31 g@-g:F, gi-ary e ot qun § 3@ sewd 7@ < wivar-gfval & faw
07 €, & gt SHA WRIBTET $) UgT T §, W 3TeH I8 I95® Hgdl &1 U T SaT SFTGR! Bl
Hrero HR F Y Suged e 81 AT A, WRAaTRIG) $1 Pt A w1 4w 8 6 2?7 i it § 37
g g faar Siram? dur IR1E 81 i, IR 39 $ung & fIe 9 w9d g, oft dise) & wd €, fedt @
ASTS-ZATST 8] Hd, IR T DR TH W7 o1 @ fbr ot Igam &1 Fe1 omar 8,  Siaq & smexf &t =
FRd &1 3R d 3 BT FATd TR V T WA o1d ) WS [ Hgaq a1 | Srar &) frara 9 g1 v &
faorg A 3V IR Ft g sifaal § 7oy 9471 faar | AfFT 19 1 TP Bier WiE 3R oft 8, S 9 FH S e 8l
3R 98 ? oo | Forg ordf § g9 TUT &1 TN $d B, $O S A Fhrera-gera ord A afvar & ars &1ty
FXA 1 $T AN 9 B MG 9@ B! H TIIF B9, TR FART TR T 76 21 97 Hfi-w ol arar oft 2,
agﬁéfﬂﬂg%%uaéama@ﬁﬁm%l 3R Wt #F Aol J vAT SRAAT Upe B AT 8, 3AUd ITDT I
T |

ST TR B UHR 14 T 7T UY HT 39 9d154:
UH- -G H B AT U g2

1. feqg

2.8
3. ACYRY
4. TEATS

Correct Answer :-

10) SIFERY § U7 WA SUTCT §iGel THS ST 2 | 9 o el 3meh &) Ugd aof 1 Jag® He1 daed 8,
A 3R YT FEd &1 YT TIYE I9E P € 91 ITP WA, P! FAR1UG FRwEr 7 3 98 uedt § Y 8, g9
frerg &Y fpar w1 wepar| TR W ARG €, T g T Y e € Rig BT 0 4R B At 1 o oft
9gd TR TR g, afed F-0 I oft sy o &t wmar 8, fog 719 &t wft sy wvad 18 g, 9 3@
foraa T8l T ) URY, TR o TR1E, TS g3 9T ITHA 3T 6, ISP A8 W HH sty Ft o1 oft a8
foarg 3| 3vre A 91’ Y 9R FAd B AdT 8, W FHA d@) I/ Fft g g 78 @M IHS AW W WS
faure Wl v & o/ B 81 gE@-3:, gi-ary et of qun A 3@ sqad 76 dan wivay-gfva & o
T §, 3 goft ST WRISTY H) UE T §, W 3ATeHY SA I95 P Hedl @ | TGO BT g1 3[TER! Barfrd



HreTo TER ¥ oY Suged I8 81 AT A, URaarREl Y snpieT § T g 8 6 82 Tt srmdieT df 3%
g 18 faar Sirar? dur IR1E 8 i, IR 39 $ung & e a9 wd §, oft dise) a1 ad €, feedt @
ASTS-FATST 78] Hd, IR 91 ISR T W7 o1 € fbR ot Igar §1 Fe1 oirar 8, Q Sfiaq & smexf &t =
P 81 3R 3 S BT a1 IR F 71 JG 919 ) TS 939 Hga a1d | SIu= $t e 9 81 v 6
faora 3 3/ TR ot g Srfaal A 7ug 597 faan | e 71 &1 T Ster uig iR ot B, S 39 Hu d e g1
3R 98§ oo | form ordf F g9 TUT &1 YA $d 3, $O S A FHrera-gera o 7 'afar & arey &1t yam
Fd | PO AT A9 P! MG 9B B! & FAIE Fa9l, TR gURT faar T 181 31 9a wult-waff arar ofi 8,
ﬁsﬂéﬁ:ﬂge%r%ua%amé@ﬁﬁmél 3R ft F Al J AT SRIAY UPpe PR AT 8, 3aUd IHBT R
T |

ST TR BT UgH 1 D Y UY FHT SR qa1sd:
- U YT H fhaet Ura-erss fasron fan man 82

1. 3T T
2. GRY3AT T
3.39H § Pl I
4. G¥Y SATAAT BT

Correct Answer :-

11) SR § TUT HEA SUTCT §iG el THS SI1dT 8 1 4 o el el &) ugd ool T Sa@® He-1 aed &,
Al S T HEd 1 T JIHT 999 @ T SHP WY, IqH ARG FRWET A 32 98 uedl ¢ &t §, 39T
Hrerg =81 forar S wran | T WM AR €, SAdh g5 T @ oA g Rig BT U YR HR At 71 F o
g4 TR 9 8, afed F-0 I oft sy o § wrar B, fpg 71 3t wft iy wwad 78 g, A 3@
fra 918! e 3 AR), IR SRA TRE, TS §F 9 ArA 319 o, SUP Aoy W HUt sRiaiy & orar off gt
s Tt Az W AR UHTY IR $Ad B AdT 8, W THA @ 39 Bt G g TSN @1 Iqdh A W RS
fawrg wirdt =u @ BT T 31 g@-g:F, i-ary e ot qun § 3@ geuad 7@ <@ wivar-gfval & faw
07 €, & gt SHA WRIBTET $) UgT TC §, W 3TeH I I95® Hgdl &1 U T SaT 3FTGR! BT
WUTT FOR S RIT Iuged & 81 IRT 7, WRAaTRar Bt avpiet & g1 goun &) @ 82 7 st § 39
g g faar Siram? dur IR1E 81 i, IR 39 ung & fIe 9 wad g, oft dise) & od €, feedt @
ASTS-ZATST 78] B, IR T DR TH W7 o1 @ fbR ot Igam &1 Fe1 orar 8,  Siaq & smexf &t =
FRd &1 3R d 3 BT FATd TR V T W o1d ) UG [ Hgaq a1 | Srar s e 9 g1 v &
faorg A 3V TR Ft g sifaal A 7oy 9471 fiar | AfFT 19 1 TP Bier WiE 3R oft 8, S S9E FH S e 8l
3R 98 ? oo | Forg ordf § g9 TUT &1 TN $d B, $O S A Frera-gera ord A afvar & arsy &1ty
FXA 1 $T AN 39 B MG 9@ B! H TIIF B9, TR FART TR Tar 7 21 97 Hfi-w ol arar oft 2,
aghéfﬂﬂgg%uaéammﬁﬁm%laﬁ?mw{ﬁﬁﬁﬁmmmm%mﬁ,mmm
T |

ITYe T 61 USH A YD T ¥Y BT I Td133:
- §IH-a14’ § S A1 I g2

1. Igelife

2. FHURY

3.%8

4, TEYEY



Correct Answer :-

12) SR § 7T GE TSI gi A SraT 81 g9 o fhelt et #) ugd ool 1 Ja% W el 918d ©,
A SV YT BEd T T TIGT TP P § U1 SUP VAT, IS FRIUS ARwEr A 39 98 ved S § 8, sHdT
e Y far o wwarn A AT AR 7, srE 83 T 9t M 81 Righ &1 TU 4R HR A 71 par o
9gd TR TR 8, afed F-0 I oft sy o § wimar B, fog 719 3t wft iy wva 8 g, 9 3@
=T =reY T F ARy, 98 Ok W19, 91 g3 U 9T ST9 &, 39 de¥ R H sy it o oft At
s Tt Izma ¥ 918 THTY AR $AT R AdT 8, W THA a1l 3@ H G B T @1 I AT W RS
faure Wl v & o/ e 81 gE@-g:, gi-ary et of qun # 5@ sqad 716 dan wivay-afa & o
01 €, 3 9t S WRTHTET B UgT T §, W 3MeHI IH I9G® Hedl & | UGIUN BT 5T 3FIeR! Harad
Hremo TOR & g Iugad w8t 81 AT 7, URaaReal #t snpier & war ga=n g 36 82 | st #f 3%
g9 8 faar Sirar? dar TR1E T8 fi, IR 39 $uug & e e wd §, oft dise) & wd €, fhedt @
ASTS-TST Tl R4, TR ITd B 7T @1 91 @ e Wt s &1 w1 wirar B,  Siaq & sime=f & far
FRd g1 3R d 3¢ BT FATd TR A T WG o1d ) G [ Hga ard | S ) Frara 9= g1 v &
faorg A 3Q TR Ft g sifaal § 7oy 9471 far | AfeT 18 1 U Bier Uig 3R oft 8, S S9E FH S e gl
3R @5 ¢ der | fore o & g6 TTUT BT T4 HRd &, $O S ¥ fHerd-gad o A afsar & ars' &1+t wa
Fd | T AN A9 P! MG B! § G9E Feal, TR gURT far T 78 1 9a wft-aft arar ofi ,
m&ﬂéﬁ%@uﬁaﬁaﬂ%@%ﬁm%l R oft S At F 39T ST Yebe FR AT B, 3T SHHBT R
T |

ST TR B UgH 1 U Y UY $HT 3R JaIsd:
- 'S Mg | I AT HTF?

1398 & PIg T

2. HTgaraH

3. Shifadaraes

4. TITpdTdH

Correct Answer :-

13) SFER] § TUT HIQ SUTST giel U ST 81 89 d fHdt sl & ugd oof T 99%® He-1l 918d §,
Al I/ YT HEd T 1 YT TIYT 995 @ T TP WA, Iqat FAR1ug TRWET A 37 98 uedl ¢ & 8, st
frera €Y fpar 1 wepar | TR W AR €, 1) € T Y e € Riwd 1 w0 yror #7 adt 71 o oft
g4 TR TR 8, afed F-0 I it sy o § wrar B, fpg 71 3 wft ey wwa 78 g, A 3@
= =Y e Y ARy, Gre SR TR19, 9S) g3 9T T ST9 &), 39 de¥ R FH syt Y o oft A8
fearg 31| e & AR THTY IR $Ad PR AT €, W HA df 3@ Y G g 8T @1 IqP e W RATE
faurg T v & o1 T 81 gE@-g:, gi-ary o gun A 3@ sgad 76 dan wiay-gfva & o
701 €, 3 Tt I WRTHTET H1 UgT T §, W A IH I9FE Hedl 8 | TGO BT Fa-T 3FIGR! Hard
Hrero HR F Y Suged e 21 AT A, WRAaTRia) 1 Pt A w1 g 8 6 22 i srrfieT § 37
g g faar Sirar? dur IR1E 181 i, IR 39 $ung & fIe 9 39d §, ot dise) &1 od €, fhedt @
ASTS-FATST 78] H, IR 91 DR TH W7 o1 @ fbr ot ggar &1 Fe1 oirar 8,  Siaq & smexf &t =
FRd &1 3R d 3 BT a9 TR | 71 WW o1a a) Ug [ Heaq a1 | Sra &) Frara 9 g1 v &
faorg A IV IR F gg sfaal A 7oy 941 fear | e 19 1 TP Bier WiE R oft 8, S SuE FH S e 8l
3R 98§ oo | for ordf F g9 T &1 YA $d B, $O S A Frera-gera o A afar & arsy &1ty



HA &1 O A I B! UGS I9PH! | JAAY HeI), IR FART =R Ta1 761 21 3 Fft-waft Arar o ,
assﬁéfﬁﬂg%%uaaﬁma@ﬁﬁm%l 3R Wt #E Afaa | 31T SRIAY Yo B 3T 8, 3Idud IHPT ™
T |

ST TR B Ugh 1 D Y UY $T 36X JaIsd:
- YT HT BICT YIS HgT ATl 372

1.9

2. 31

3. gfer

4. el

Correct Answer :-

14) SFERY § TUT WA SUTCT §iGel THS o112 | g9 o et 3reh &) Ugd aof 1 Jag® He1 daed 8,
A 3R YT FEd &1 YT TIYE I9E P € 91 IS9P WU, TS| FAR1US FiRwEr 7 3 98 uedt § Y 8, g9
frerg &Y fpan w1 wepan| TR W ARG €, T g T Y e € Rigd BT 0 4R B At 1 o oft
9gd TR TR g, afed F-0 I oft sy o &t wimar 8, fog 719 &t wft sy wva 18 g, 9 3@
foraa T8l T ) URY, TR ok TR1E, T g3 9T JTHA 3T 6, I9P A8 W HH sty Ft o1 oft a8
foarg 3| 3ve A IR Y 9R FAd B AdT 8, W FHA A 3/ Fft g g A8 @M IHS AW W WS
faure Wl v & o/ B 81 gE@-3:, gi-ary et of qun A 5@ sead 716 dan wivay-gfa & o
T §, 3 goft STH WRISTY H) UE T §, W 3ATeH SA I95 P Hedl @ | TGO BT 3T 3[TER! Barrd
HreTr= TR F oY Suged T8 @1 AT A, URaarREl  npieT § T 3o 8 W 82 Tt sdieT df 3%
g9 8 faar Sirar? dur IR1E T8 fia, IR 39 ung & e 9 3d §, oft dise) a1 wd €, feedt @
ASTS-3TST Tl R4, TR T4 B T @1 91 @ bR Wt g &1 w1 e B, 9 Siaq & sme=f &t e
FYd 81 3R d 3¢ BT AT YRR F 3T VR S1d TG §3 HEA aTd | AU B e ara= g1 T ot
oo = 39 SR @1 Jw sfaal & v 797 faam | Afee 19 &1 v Ster uig o7 oft ], o Suw & § e B
3R 98§ oo | form o F g9 T &1 YA $Rd 3, $O S A FHrera-gera ord 7 'afar & arey &1 ft yam
FYA &1 TS AT A9 B! WIS I9HWB! & TAAT Ha 11, TR FART faaR Tun =16t g1 39 Fuft-aft arar ot 3,
$5ﬂé$=ﬂﬂ2%%craaaﬂﬂéwﬁﬁm%l 3R ft B Al F AT SRIAY UPHe FHR AT 8, SAUd IHBT I
T |

SUT TR P UgHR A2 IR T Uy HT IR gaT3d:

TH- T 81 g5 fawrg A fore 31 ot g sfaal ot aforal o ws1 o faar?
1. AT

2. AR

3. ST

4. 3TShTeRT

Correct Answer :-



15) SHERI § TUT GE TSI JiS THS 1T 81 g6 o fabelt et} &) ugd ool BT Ia%W a1 9184 ©,
@ I8 TYT PEd &1 YT TIHT 99 ¢ U1 ISP U, P! FARTUE FRWET A 3¢ 98 ugd § & 8, sHPT
frerg &Y fpan w1 wepan| TR W ARG €, T g T Y e € Rigd BT 0 4R B At 1 o oft
gd TN AR 8, Afe Fft-ft 37 oft e 3 € oiman 8, freg 1 3 waft e R T g, 7 S
foraaT T8l T # URY, TR ki TR1E, TS g3 Ut JTHA 3T 6, I9P A8 W HHY sty Ft o1 oft T8
fearg 3h | o & AR THTY IR HAd P AT €, W HA df 3@ B G g 8T @1 IqP e W RS
faure Wl v & o e 81 gE@-g:, gi-ary et of qun A 3@ sqad 76 San wivay-afa & o
701 €, ¥ Tt A WRTHTHT H1 UgT T §, W 31 IV 39 Hedl 8 | UM BT Fa-T SFIER! Hard
HreTr= TER F oY Suged I8 @1 AT A, URAaTREl F npieT § T 3o 8 6 82 Tt srmdieT df 3%
g g faar Sirar? dur IR1E 8 i, IR 39 ung & e sure) wd §, oft dise) a1 wd €, feedt @
ASTS-FAIST 78] H, IR 91 DR T W7 o1 € fbR oft Igar §1 Fe1 oirar €, Q Siiaq & smexf &t =
Fd &1 3R q 3¢ BT a9 TR | 71 W@ o1a &) UE [ Heaq a1 | SrarH &) e 9 81 v &
oo = 39 SR @1 Jwg sfaal & o 947 faam | Afee 19 &1 v Ster uig o oft 8, o Suw & § e 3
3R 9% 3 'de | o ard A g9 TUT BT YN HXd &, TO S A Frerd-gard ord F afar & a1 31 ot v
Fd | T AT A9 P! MG 9B B! B FAIE Fa9l, TR gURT faar T 181 31 9a wuft-waff arar ofi 8,
ﬁsﬂéﬁ:ﬂge%r%ua%amé@ﬁﬁmél IR Y < Hfadl V SUAT ST UPHe HY a1 ], 3AUd ITDT R
T |

ST TR P UgHR 12 IR Y UY HT IR gaTsd:
- YT YT SaB B! 31 arT H IS @ -

1. T

2.5 | Pg G

3. 0gd

4. qarghr

Correct Answer :-

16) SIFER] § U7 WA SUTCT §iG el THS SITdT 8 | 4 o Tl el &) uga oo T Sa@® He1 ded ¢,
Al S T HEd 1 T JIHT 999 @ AT SHP WU, IqH FFRTug FRWET A 32 98 uedl ¢ &t §, 39T
Hrerg =81 foran S wrar | A WM ARG €, SAdh g5 T @Y ST B Rig BT U YR B At 71 F o
g4 TR TR 8, afed F-0 I it sy o § wrar B, fpg 71 3t wft iy e 78 g, 9 3@
fra 918! e 3 AR, IR SRA TRE, TS §F 9 ArA 319 o, SUP Aoy W HUt sRiaiy & orar off gt
TS Tt Az W AR TP IR $Ad B AdT 8, W THA @ 39 Bt G g TSN @1 Iqdh A W RS
fawrg vt =u @ BT T 31 g@-g:F, gi-ary e ot qun § 3@ gead 7@ < wivar-gfval & faw
07 €, & gt SHA WRIBTET $) UET T §, W 3TeH I8 I95® Hedl &1 U T SaT SFTGR! Bl
WUTT FOR S RIT Iuged & 81 IRT 7, WRAaTRar Bt aspiet & g1 goun &) 6 82 7 st § 39
g 8 faar Siram? dur IR1E 81 i, IR 39 ung & fIe 9 wad g, oft dise) & od €, fedt @
ASTS-ZATST 78] Hd, IR 91 DR TH W7 o1 @ fbR oft Igam &1 Fe1 omar 8,  Siaq & smexf &t =
FRd &1 3R d 3 BT FATd TR F T W o1d ) IS [ Hgaq a1 | Srar &) frara 9 g1 v &
faorg A 3V TR Ft g sifaal § 7oy 941 fiar | AfFT 19 1 TP Bier WiE 3R oft 8, S 39 FH S e 8l
3R 98 ? oo | Form ordf § g9 TUT &1 TN $d B, $O S A Frera-gera 3 A afar & arsy &1ty
FXA 1 $T AN 9 B MG 9@ B! & TIIF B9, TR FART TR Tar 7 21 97 Hfi-w ot arar oft 2,
aghéfﬂﬂgg%uaéammﬁﬁm%laﬁ?mw{ﬁﬁﬁﬁmmmm%mﬁ,mmm
T |

ST TR B TP 14 I T UY HT 39 94154



UR- YT T UGigary 82
1. @R

2. 301
3. AT

4. Gd1

Correct Answer :-

17) SHERI ¥ 7T N 1S JRGET THE S1aT @1 g9 o fhdt St F ugd 9l P Jag W Hel aed 8,
at I T FHEd T | TYT TIYT d9PB 3 qT 3qb WA, IS fFARTUg wigwar A 3/ us uedt ¢ & 8, s9er
e T far o wwan T W7 AR 7, sadt 83 T 9t M 81 Righ &1 T U yRor HR At 31 pam ot
g4 9 TR 8, afed FW-0 I it iy o § wrar B, frg 719 B wft iy e 78 g, 9 3@
o= areY T 3 1Ry, 918 Ok TR, 91 g5 U 91 $T9 &, 39 dgY R $ ey ot o oft At
s Tt v ¥ 918 THTY AR $Ad R a1 8, W E af 39 Ht G g T @ I AeY W W
faure Wl v & o e 81 gE@-g:, gi-ary o qun A 3@ sgad 76 San wiay-afva & o
701 €, 3 Tt A WRTHTET H1 UgT T §, W 3 IH 99 E Hedl 8 | TGIUN BT Fa-T 3FIER! Hard
HreTu TR & oY Suged e €1 3R 7, yRaarRa! # ankiet  Far gaun 81 W 82 T ervdfilet # 3%
T 181 fear wirar? S9R R1E T8 fia, TR U0 uug & fU aure) TEd €, ot dS®) BT 374 ©, fhul |
ASTS-FAIST 78] H, IR 91 DR TH W7 o1 § fbR ot Igam §1 Fe1 9irar 8, Q Siiaq & smexf &t =
FYd &1 3R 9 3¢ BT A9 TR A 37 TG 1a ) e T Fgaq avrd | F1u &) e arm= 81 T &
oo = 39 SR @1 Jw sfaal § v 741 faan | Afe= 19 &1 v Ster uig o oft 8, o Suw & § e B
3R 98 ? oo | For ordf F g9 YT &1 YA $d 3, $O S A FHrera-gera o A afvar & arsy &1ty
FYd | T AT A9 P! MG 9B B! § GAIE Fa4l, TR gURT faar T 181 1 9a Fuft-wff arar ofi g,
$sﬂéfﬂa21&%%uaaaméaﬁﬁm%| 3R ft B Sl F ST SRIAIY UPHe TR AT 8, ATd IHDT I
T |

ST TR P TGP A9 YD T Uy HT IR ga1sd:
- YT U Y el # A | g

1 g

2. Efferar

3.5 @ PIg A

4. sFgferT

Correct Answer :-

18) 1T Y FHY 14T, TATE sraAT WA|
AT T AT o, A FER A

AN GIT ST §AT Hfer Ffe
HHaThd HHal T 3 3 Iaad T S|



3YYFA ISIIT Y TgHT Al Y& AT YT FT 3R IA8:
weel- ‘Ffr @ 47 dead §72

1. e

2. s

3. BT

4. Pel-hel TEAT

Correct Answer :-

19) Frar T FAY or, TAR srar Wl
Aie 9o #Aar s, S wERT A

AAGNEGT IR ST AT Hf Ffe
HHAThS AFHAT T 3T 331 I 7

3YYFA ISIIT Y TgHT Al Y& AT YT FT 3R IA8:
Y- T UAsE §7

1. gfeT

2. Eiferar

3.59H ¥ PIS AL

4. sFgferT

Correct Answer :-

20) FrET 5T FEY s, AATY s WA
Aie 9o #Aar s, S wERT S

AN G ST §AT Hfer FAlG
HHAThS AFHaT I AT 331 I 7 )

39T TCHNT F YGHT Al T AT YT FT I TS
ved- AT Ffar HUfR’ 9fFad # Fla @1 36dR §2
1. 89
2. JHAD

3. ®Uh



4. 3UeT

Correct Answer :-

21) FrET BT FEY s, TATY s WA
Are I #ar s, S R A

AN GIT ST §AT Hfer Ffe
HHaThd HHaT T 3 3 Iaa T S|

39T UGHNT Y YGHT Al T AT YT FT I TS
WS- ‘HFaTea # FiT AT TAW §?

1. 8%

2. AT

3. dcqey

4, FAURT

Correct Answer :-

o AT

22) FraT BT FEY srn, AARY s @A)
Ae o1 HAar a7, S wRT S

AN GHT ST §AT Hfer FAfy
HFATGS AFAT I 3T 331 391 T M|

39T TSI Y YGHT Al T AT YT FT 3o qaqBA:
YR~ TSR F HTAR FAT T GAIgardt gt 872
1. gdergst
2. Torquet
3. AT

4. 3TcAUET

Correct Answer :-

23) @raT T FRAT o, AR ST W)
Ale o1 Aar a7, S wR S



AAGNET IR T AT Hf Ffe
HHAThS AFHAT T 3T 331 31 7 )

39YFA ISIIT Y TgHT Al & AT YT FT 3R I8
Y- YSIARM & IR ARG § T FT 3T g2
1. el HAcHD Siae

2. hael HEATRS Siee

3. HA D I el el

4, TR Shael 3R He™TcAD Siael et

Correct Answer :-

. e shaa 3R eafcas shaa gt

24) FraT T FET s, AR o W@
Ae 9o #Aar s, S wERT A

AAGNET IR T AT Hf Ffe
HHAThel Fbal T T 3H IAd 7 S|

39YFA ISIIT Y TG Al & AT YT FT 3R I8
WRA-HFATHe T qAIar g2

LR

2. 9T

3. Gielm

4. A

Correct Answer :-

25) Fra1 f6T FIY o, GAR sram W
Aie 9o #Aar s, S wdR A

ATENET I I §6T S FATE
HHAThS AFHAT I 3T 331 I 7 i

3YYFA ISIIT Y TgHT Al Y& AT YT FT 3R I8
WA~ 3T T AW oeg § ?

L

2. 3MER



3. 31d

4. 3ThIA

Correct Answer :-

26) FraT BT FEY smT, AATY s WA
Are g1 #Aar s, S FERT S

AAGNET I ST §AT HfS Ffe
HFATHS HHal It 39 33 I T A0

39T TGHNRT Y YGHT AN T AT YT FT I TS
YR ‘FAT HT GATIQTET 872

1.d

2. 31l

3. [FerE

4. drdA

Correct Answer :-

27) FrET 5T FEY smn, TATY s @A)
AT T Aar o, A FERU A

AN GIT ST §AT Hfer Ffe
HHaThd HHaT T 3 3 Iaa T S|

39T UGHNT Y YGHT Al T AT YT FT I TS

e~ FHIET BT ST I TH F WA Fgad &1 74T 9T 82
1. ST &1

2. HATEY B

3. theeldl &l

4. AT PI

Correct Answer :-



28) F1aT P FY oT, AT o7AT WA
Ae g1 #Aar s, S FRT A

AR PR ST gaT Hfax FUfy
HHAThS AFHAT I 3T 331 391 T T

39YFA ISIIT Y TgHT Al & AT YT FT 3R I3
Y- ‘FTHY FT YCH T ¢ ?

1. 1l

2. ET

3. By

4. Bl

Correct Answer :-

o 1Rl

29) FraT P FAY oT, AT AT WA
Ae g1 #Aar s, S FRT A

ATTEIET PR ST gaT Hfax FUfy
HHAThA AFHAT I T 331 31 7 T

39YFA ISIIT Y TG Al & AT YT FT 3R I3
WS- ‘HHAThA HFdT T 9fFa F Fie @1 I6wR 82
1. TJAB

2. 30T

3. 1T

4. ¥UhH

Correct Answer :-

30) FrET AT FIAT T, TAR o W@
A g7 At or, ;S FART Shw

AAERIER PR ST &A1 Hfer FfE
HHAThe AFHAT 3 T 331 31 7 i

39YFA ISIIT Y TG Al & AT YT FT 3R I8

Y- ‘FET FAT 87



1. FIATH
2. g1
3. fparm
4. faQyor

Correct Answer :-

Topic:- Social Science (SSC)

1) Who is the political head of Cabinet secretariat? / Af3tisa ARIaTe™ &1 Ie-ifa® W &1 82
1. Prime Minister / G&IT3T

2. Secretary / @fdT

3. Cabinet Secretary / A3 TfIa

4. Cabinet Minister / Shidaic 3T

Correct Answer :-

« Prime Minister / TTAHAT

2) What is also called as the ‘Hare system’? / ‘80 UG’ HI 3R FT PHgT ST 82
1. List System/&_tﬂ' (foree) woTrelt

2. Alternative Vote System / depfodch dic WOTTSIT
3. Category Based System / #0f (&heaRY) 3maTRI oTel!

4. Single Transferable Vote System / Tthel EEARONT dlc YUl

Correct Answer :-

« Single Transferable Vote System / Uchcl AR die goTrelT

3) Which is not a part of the National Action Plan on Climate Change? / g 7 A NEIE

ufkad W TP S FierT &1 fewar 781 82
1. National Water Mission / ?ngm o foeE
2. National Mission on Pollution Control / ITEI Jeuur IGEEMEERE]



3. National Mission on Sustainable Habitat / €I Hdd gATaROT TR
4. National Mission for Sustainable Agriculture / BT UROUNY HiA fHAA

Correct Answer :-

« National Mission on Pollution Control / ITEIT Jeuur IGEEMEERE]

4)  Match the following:

1. Kuka Movement A. Lucknow (1936)
2. Mappila Rebellion B. Gujarat (1928)

3. Bardoli Satyagraha C. Kerala (1922)

4. All India Kisan Congress | D. Punjab (1854-72)

o =1 Faa s

1. T gl A. @ (1936)
2. AfYer fagE B. I[=1d (1928)
3. IE HcdRTE C. ¥t (1922)

4. AT AET A FIF | D. 911+ (1854-72)

1. 1-A, 2-B, 3-C, 4-D
2. 1-D, 2-B, 3-A, 4-C
3. 1-D, 2-C, 3-B, 4-A
4.3-D, 2-C, 1-A, 4-B
Correct Answer :-

- 1-D, 2-C, 3-B, 4-A

5) Bairam Khan was given the title of Khan-i-Khanum during the reign of: / RAGHE B 3‘-@7
MEAHTA & SR WH-U-TTHT Pt Uy § 7 <ft:

1. Jahangir / SRR

2. Humayun / gﬂ'l'ii

3. Babur / dTaX

4. Akbar / 3HPheaT



Correct Answer :-

6) Active learning starts by posing questions, problems or scenario. This is best represented in: /

fera Rreror wel, Tuwnsi a1 ufiexy $ IRgd 1 A RY ST 81 FHBT Yo 33T Ye=iH H el
1. Problem-based learning / HHEAT-3MATRT HTAITH

2. Technology-based learning / Stafardr-3mamia 3rfera

3. Inquiry-based learning / 3f=duor-3maTRa 3ifAra

4. Activity-based learning / JfafafQ-3mamia e

Correct Answer :-

« Inquiry-based learning / 3=awor-3maTiRa QA

7) ‘Aral Sea’ is one of the largest lakes in the world is completely vanished away due to unscientific
human intervention. In which country is Aral sea located? / ‘3IRd IR’ ﬁ"H & g9 a@ EﬂFﬁ'
H Y TP g N AAFIAP A TA8Y F HRUI ¥ ave | T 81 718 31 3R IR fh
oo ¥ fRya g2

1. Kazakhstan / ShalTT&EdT
2. Estonia / Tl
3. Latvia / SITd =T

4. Venezuela / aﬁw

Correct Answer :-

« Kazakhstan / ol gEdTT

8) is a system introduced by the government where the issue price of food is much lower
than the market price to enable the poor to purchase the subsidized food. / YURIPIR gIRT
IRE DI T3 TP yuITe! g, Forad afeudt ara WisH # @die & o il o 9am 3 7
QT Uerdf &1 fiie g7 99k o9 3 959 $U gia1 2|

1. Peoples Distribution System / STl TaaRoT GoTell

2. Public Direct Service / @Tdolieldd UcTeT TdT
3. Public Distribution Scheme / AT TIA0T ATSTAT
4. Public Distribution System / HTdelicies TIdROT JOTTelT



Correct Answer :-

« Public Distribution System / el TIAIOT JOTTGlT

9) vote is exercised by the speaker in the house in case of a tie where in equal numbers of
members have voted in favour or against a bill or resolution. / THFHT (213) &1 fRUTT # wafe fadas
T UATd & U4 U9 faRIY & el &1 JH O&T A U {6541 81 99 AeA | redel gRI Td BT UL
oo wimar 21

1. Absolute / f[ARU&T (TeaHeL)

2. Primary / TTI {3

3. Relative / G

4. Casting / Ao

Correct Answer :-

. Casting / [A0iToe®

10) Arrange the following events/movements in the correct order of their chronology:
1. Jalianwala bagh massacre

2. Second Civil Disobedience Movement

3. Boycott of Simon Commission

4. Quit India Movement /

Frafafed gemai/ sigiadl #1 3% HTawH & IR el HH H TR B
1. AfTaTar a1 gATHIS

2. fgdfra wfa=a srasm siigie

3. 13U HHIE BT afehR

4, HIRd BIS! 3figra-

1. 2-3-4-1

2.1-2-3-4

3.1-3-4-2

4. 1-3-2-4

Correct Answer :-

. 1-3-24



11) The Play 'Neel-Darpan’ by Din Bandhu Mitra portrays the plight of: / = 3&[ P g1 If=a

dres Hid-gdur § st fRufa &1 fReror foear wa 8:
1. Weavers / gFﬁh_{)f

2. Indigo Planters / tel &M JTeht

3. Landless Labourers / ${f&eled EFIElqgi
4. Bengali Artisans / S9TTell ShIRIIRI

Correct Answer :-

. Indigo Planters / =Tol &I U

12) 1n which year was Chhatrapati Shivaji Maharaj crowned as the Maratha King? / Wﬁl’
Rrareht weRT™ &1 {5 ad 71T I & T H q1eT U T UT?

1. 1680
2.1674
3. 1630

4. 1664

Correct Answer :-

13) The Government has started with the objective of promoting co-operative
marketing of agricultural produce for the benefit of farmers. / TFR & framel & amr ¥ fav R
3991 & PN U0 FY qgm@r A F 35T & #r eI B

1. National Agricultural Confederation Management Fund of India Ltd. / Rl TdihedRdl PIhEIT

2. National Agricultural and Commerce Management Federation of India Ltd. / Aol THiheaR TS P

Haorie had 3% sf3ar fafdes

3. National Agricultural Cooperative Marketing Federation of India Ltd. / AATA Tfhooel PI3TIRTET
AR heXR 3w sf3ar fofaes

4. National Agricultural Cooperative Management Federation of India Ltd. / Aol Tdflhedlel FraaRfea
Aot e 3% sfaar fofdes

Correct Answer :-



 National Agricultural Cooperative Marketing Federation of India Ltd. / ARl TdihedRdl Fr3aRfea
HArhfear heXere 3w sf3ar fafaes

14) Right to Education Act came into effect on . | e #1 3fOFER AT
# o g3l

1. 1 April 2010 / 1 301 2010
2. 1 March 2011 / 1 9 2011

3. 1 February 2012 / 1 &Rt 2012

4.1 May 2009 / 1 & 2009

Correct Answer :-

« 1 April 2010/ 1 3/0d 2010

15) is the difference between the value of a country's imports and exports for a
given period. / , frelt & o8 efr & faw Rl qor & amaa sk e et &
i &1 AT B

1. The Balance of Economic growth / e fawm &1 ?@Tﬂ

2. The Balance of Payment / YTTd &1 dda

3. The Balance of Trade / <IIUR &I {-i(joid

4. The Balance of Exchange rate / Tafadd &3 @t Hﬂﬂ?-f

Correct Answer :-

e The Balance of Trade / <IIUX &l {-iq«o-l

16) Rajukas appointed by king Ashoka performed the following duty? / ITSIT FMF -CILY
frgea Tot & i@ wdea fasmam?

1. Revenue / ITSTEJ
2. Religious 7 i
3. Military / &<

4, Judicial / =gTA®

Correct Answer :-

o Judicial / =g1R_®



17) MRTP stands for ./ TAARE # e ® _ ®

1. Monopoly & Restrictive Trade Prohibition Act / FlAITTell TS I&cided ¢s HiIfgfare Tae
2. Monopoly & Restrictive Trade Pact / FlAItlell U8 I¥cided ¢g Udae

3. Monopoly & Restrictive Trade Practices Act / FlAITlell U I¥cided ¢z Qfdecad wace

4. Monopoly & Restrictive Trade Prices / ATl Us IRefded ¢35 UBad

Correct Answer :-

« Monopoly & Restrictive Trade Practices Act / HlAltlell U8 Ikeided ¢& UfdFecad tae

18) At which places are the cave paintings found? / I[%T R (3f&7w) e vae @ aiw S

87

1. All the above / 3URIh Y

2. Bhimbetka only / thdel HHACH
3. Badami only / hdel dTGraT

4. Ajanta only / hael 3TSIdT

Correct Answer :-

« All the above / 3WRIh T

19) Ashtapradhan was the official council of: / ST SHHT IHTAFIRF IRYE T
1. Mughals / W Cal

2. Marathas / FRTSI3N T

3. Afghans / 3Tl T

4. Rajputs / Tr\_rl'%_-ﬁ Cal

Correct Answer :-

« Marathas / #ITSI3T T

20) In which among the following years, did India conduct series of nuclear tests? /

frrafaf@a & @ frg ad &, sRa F @A) Theroi A e FA FRAST A2

1. 1998



2. 1997
3. 1999
4. 1995

Correct Answer :-

e 1998

21) Who has the monopoly in issuing currency notes in India? / R H #Har (H'Tlm') Al S
e H AP TERFR §2

1. Commercial Banks / aTf0Tieaed dd

2. NABARD / ATdTS

3. Ministry of Finance / fad #raerd

4. Reserve Bank of India / iR Rad da

Correct Answer :-

« Reserve Bank of India / ARG RSd d&

22) Who was the President of the Constituent Assembly? / HTAeTe AT F HegaT Hid A2
1. K.M.Munshi / .TH. FM

2. H.C.Mookerjee / Tz 8. EIEIGﬁ

3. Dr. Rajendra Prasad / 3}, oG UdTe

4. Dr. Ambedkar / 3f. 3FIsd]

Correct Answer :-

« Dr. Rajendra Prasad / 3f. ol UHIG

23) Who gave the famous slogan “Garibi Hatao”? / "aI{1dl gem3i™ &1 yfAqy aRrT fFas
f&am?

1. Rajiv Gandhi / Trefta amefy
2. Jayaprakash Narayan / STOUHIRN ARTIOT
3. Indira Gandhi / 3fer amef



4. V.P. Singh/dr. 0. &g

Correct Answer :-

« Indira Gandhi / 3231 amefy

24) Who is the proponent of social recitation method? / WIHII® A€ 915 ggufa &t
YEaIa® FieT 82

1. Max Weber / Ha® deR

2. Karl Popper / FTel TR

3. Auguste Comte / 3T PlFe
4. Adam Wesley / USH dTal

Correct Answer :-

« Adam Wesley / TSH d¥el

25) Who was well known as Lokhitwadi? / fheg aSRdad; & T & F=T SATAT 412
1. Gopal Hari Deshmukh / 9MUTel &1 &RrQ@

2. Jyotibha Phule / ST Pel

3. Ishwar Chand Vidyasagar / AR ¥g faaranR

4. M.G. Ranade / T&H. ST, TATS

Correct Answer :-

« Gopal Hari Deshmukh / aTdTel &3 a'i’l?j'@

26) A teacher gets immediate feedback by conducting J T arw &
AN G@RT dehlel Ffayfee yred Ham g

1. programmed evaluation / PIIhHATE d-Lcréliqvo-l

2. summative evaluation / JRIcHD Hedihe
3. diagnostic evaluation / Il EFE&W
4. formative evaluation / fAHTOTcHAD Hediehd

Correct Answer :-



« formative evaluation / fAATONCH® HeATh

27) According to the Constitution, India is best described as a ./ dfaeeT & 317:!}“1', AT
I FEH IS ¥ ¥ # giota frar = B

1. Union of States / AT &l Y

2. Unitary State / TblcHh I
3. Sovereign state / Fi'l;ﬂ]jca I

4. Federation / el

Correct Answer :-
« Union of States / AT &l Y

28) India achieved self-sufficiency in food grains by the year ./ ARA oF a¥
d% Wedled # AcAfasRar gifder $

1. 1956
2. 1986
3. 1996
4. 1976

Correct Answer :-

- 1976

29) has replaced the Planning Commission of India. / A HRAT Irstar
HTANT FT T A fom B

1. Antyodaya Anna Yojana / Hcalcd e JIStall
2. Yojana Upay / JSTT 3UTT

3. Yojana Aayog / TSl 3TANT

4. NITI Aayog / iifa 3T

Correct Answer :-

« NITI Aayog / Aifd 3mrer



30) Identifying the learning difficulties or weaknesses of pupils for instruction is known as: /

fager & fav R i it et Ffeamat a1 FARAT F1 g &
T # AT AT R

1. Unit test / TS TT&TOT
2. Diagnostic test / Aerfae Tdeor

3. Prognostic test / URITAE&d T{&T0T
4. Achievement test / 3UITe UII&TOT

Correct Answer :-

« Diagnostic test / wAGIieleh UIT&TOT

31) The major objective of dramatization in the teaching of social science is: / gfae e
& fRTorT F ACHT TR FT THAE 3687 AFT FI g &

1. Comprehension / a4
2. Knowledge / T
3. Research / WUI?T

4. Application / 3TTdgel

Correct Answer :-
. Comprehension / &Y

32) The ‘Panchsheel’ agreement was signed between ./ gaefier gHsld w &
HqEY gramnsr fee v

1. China and Tibet / el 3R fdearay

2. Pakistan and China / UTfehedtal 3R i
3. India and Pakistan / R 3R arfehedre
4. India and China / Rd 3R o=

Correct Answer :-

« India and China / ART 3R A=



33) The age of the earth according to majority opinion is: / qgAd & IER, E[%Tﬁ $r Iy CF
1. 40-50 Billion Years / 40-50 fafera= a9

2. 4-5 Billion Years / 4-5 faferaar aw

3. 4-5 Million Years / 4-5 faiforaet ay

4. 1-2 Billion Years / 1-2 faformar aw

Correct Answer :-

« 4-5 Billion Years / 4-5 faforgea ag

34) The strategy that enhances student knowledge and enables them to acquire collaboration,
communication and independent learning skills and prepare for lifelong learning is: / dg

WA St o1 AT Fordt § AR 37§ FgAhT, ¥R R TaT Aftere sk urea
& 3T relEs e & AT gar aard §:

1. Written assignment method / foif&a Hﬂ—g’a’?ﬁ ugfa
2. Project method / URIATSAT Ugia

3. Practical method / UANTcAD TGl

4. Demonstration method / GHATONIRIOT Ugia

Correct Answer :-

« Project method / URANSAT Ugfa

35) The advantage of discussion method is: / a7 /A &1 e o &

1. Emphasis on learning instead of teaching / f&T0T & Forrg 39T W IR
2. Emphasis on learning with lecturing / ST & ATY IHTAIMH W IR

3. Emphasis on learning with technology / WIfahr & 1Y AT WX AR
4. Emphasis on learning with activity / @II®ed & ATY AfAH W AR
Correct Answer :-

« Emphasis on learning instead of teaching / TU&T0T & aomg HYITH W IR

36) The only session of the Indian National Congress which was presided by Mahatma Gandhi

was held at : / IR ITSET HIEA HT THATT AT fTHT IrETaTar AGIeHT el F v oY, Tl



AT @Far =ar an:

1. Allahabad / SeITgIdIg
2. Belgaum / e19T1d

3. Karachi / =N
4. Surat / Id

Correct Answer :-

. Belgaum / Sel9Td

37) The qualitative judgment of value and purpose is: / AT sk 3aRT &I
uITeAs Aok g §

1. Evaluation / HgdTdhel
2. Marking / 3ol

3. Examination / G31&T0T
4. Grading / SofreioT

Correct Answer :-

« Evaluation / EFLFJIW

38) NSE stands for ./ wTeHs &1 faEga w9 gl
1. National Support Establishment / TXFd JUIE TR feiedc
2. National Statistical Economy / 12lTel TfeTEedhd Sheld]

3. National Statistical Enumeration / A%l FfeTEcdhe E?EFI'Q'QIT-T

4. National Stock Exchange / ARTTel T TFHUS

Correct Answer :-

» National Stock Exchange / A1Tel TCTdh Tl

39) Which is not a characteristic of formative evaluation? / ®le Ht faTvIer® Fearwea
v faewar ad @2

1. It is an integral part of learning process. / I& 3TTAIH &I UThAT PT Th IH{HeaT 39T B



2. It is generally a teacher made test. / I& 37H diX W Tk fAGTH gRT faffa v odier g1

3. It pinpoints difficulties being faced by a weak learner. / Ig& Th hHGIN fRremeft & T 3=
aTell hfsASAT & AT AT &

4. It does not help in the modification of instructional strategies / Ig 3-]'@’3‘\’”(-3435 orAfadt &
qAMYA H FAg el P B

Correct Answer :-

« It does not help in the modification of instructional strategies / Ig 3-]7:1?(‘\’”(-3455 oTAfAEr &
MY # A el P B

40) Which is not a correct statement? / AFARAT A ¥ ST 4T & T FUT AT 2

1. Battle of Buxar was fought between British East India Company and Mir Jafar. / S8 &I o E3ES

fafeer 3 gf3ar Fua IR R I & dg &2 73 o)

2. The third Anglo Mysore War was fought between British and Tipu Sultan. / JRT Taell Bth:[{
g fafeer 3R g o & @ os1 =2 A7l

3. Partition of Bengal took place in 1905. / S3TTel &l fIHTSIA 1905 H g3l

4. Queen Victoria took the title of Empress of India in 1876. / FeRI TAdeIRAT o 1876 H HARA
T FrAT=T b1 & urE fear|

Correct Answer :-

« Battle of Buxar was fought between British East India Company and Mir Jafar. / g&&X T o 5I§

fafeer $¥c gfear Huelt 3R fAw STt & P & 715 M

41) Which Article in the Constitution grants special status to Jammu & Kashmir?/ Gfatmr &
FlT AT Iqede I AR FAR F RAAY & &

1. 369

2.368

3.370

4. 353

Correct Answer :-

« 370



42) Which of the following types of method gives priority to the individuality of the student? /

frfaf@d # ¥ 9 yaR A A om § FaFaear # mafdwar & 2
1. Learner centered / Ut higa

2. Teacher centered / V8T hfgd

3. Lecture centered / SIATEITA higd

4. Subject centered / O dhigd

Correct Answer :-

« Learner centered / el dhfga

43) Which of the following is not one of the conceptual pillars of Human Development? /

farafaf@a & @ ¥ 79 RFw & daRF Faul 7 § v T8 8?2
1. Sustainability / FEIRAT

2. Productivity / 3cUTGehdr

3. Equality / GATAAT

4. Empowerment / TeITchep<oT

Correct Answer :-

« Equality / GHATAT

44) Which of the following learning method is most effective in social science learning? /

Arfaf@a & @ i @ 30 /N gwes T daa & ged@ gaqmEr 22

1. Learning by reading / Ude gRT {91

2. Learning by rote memorization / HheTU FTHAIOT GRT TAITH
3. Learning by doing / fohaTdcler 3TQaTH
4. Learning by hearing / #duT gRT QT

Correct Answer :-

« Learning by doing / ﬁI?JI?EEF 3T

45) Which of the Indus Valley Civilization cities had a dock? / ﬁ'?:]; &Y ¥YAT are fFE erew
# 36 9m



1. Harappa , &3tUl

2. Lothal / olIol

3. Alamgirpur / EWﬂTgT
4. Kalibangan / STeiTeIaM

Correct Answer :-

« Lothal / oY

46) Which among the following is a critique of society and culture drawing from knowledge

across social science and humanities disciplines? / faFafaf@a 7 ¥ #lq, amnfas s e
st Al Rwt #F A qErr A A Gt F wwteT wwar 2

1. Marxist theory / HATFGaey Bgra

2. Class theory / a1 fgia

3. Critical theory / 3TelTdeIcHAd UG

4. Revolutionary theory / gRddarer Rgida

Correct Answer :-

« Critical theory / 3TTellgelca® Agid

47) Which country has presidential system and executive powers are in the hands of the

President? / fr® &1 & Trsgufa yomelt § 3R ey afFawr wseufa & grat & @<l &2
1. UK/ b

2. France / WIH

3. USA / JuadT

4. Canada / &dl3]

Correct Answer :-

48) A child who is an extreme introvert may be reluctant to express himself in an overt manner.
Which technique can be used to study his/her personality traits? /



UF FedT o FANF Hae 8,98 e A G aF ¥ Fad w1 H JfAegF @ wFar
2| 39S IfFdca J&IU &1 HETTT I & o0 fFF dhelled T TAWT FAT ST GhaT &2

1. Projective technique / URIANST dhelih

2. Dramatization / ITehIT FTUTAR
3. Demonstration / JHATOTRIOT
4. Role play / el Tol

Correct Answer :-

« Projective technique / URINSA dhelleh

49) Which of the following is definitely achievable in a span of one period? / RFifaf@a & ¥ #la ARTT
T § TH A & e 7 Ged @ AT 7?

1. Ideal / 3G

2. Aimless / f%ed
3. Objectives / 323"

4. Oversight / fadrator

Correct Answer :-

o Objectives / 32T

50) Who was not the leader directly involved with Khilafat movement (1919-1924)? /
5 ¥ Fla ¥ AT [AEle AEIE(1919-1924) ¥ yegaT ¥ & 7181 93 A?

1. Mohammad Igbal / HIGFHG SehdTel

2. Mohammad Ali / HIgFag 3Teir

3. Pir Ghulam Mujaddid Sarhandi / 4R el Faiifeg TIEaT
4. Maulana Shaukat Ali / #Htemar efterd 31elt

Correct Answer :-

« Mohammad Igbal / HIEFHG SehdTdl

51) Who wrote the ancient Indian Play Malvikagnimitram which referred to the defeat of Yavanas

on the bank of River Sindhu in the hands of Vasumitra? / YTlel R sATch ATATARIEATATH



frea foram o, 9 Ry 7 & d¢ W agAT F el Jaa] A §R F71 Jea@ U
1. Asvaghosha / 3TATENY

2. Harsha / i—’-'lff

3. Sudraka / R[gh

4, Kalidasa / Sreligrd

Correct Answer :-

« Kalidasa / hTellerd

52) Due to which of the following winds, Central Europe enjoys a warmer climate? /

farafaf@a #F & frw a1 & FRoT ALT QUT TF I FAAY FT A 37T 82
1. Bergwind / JIaad
2. Zonda / STiET

3. Foehn / %hel

4. Chinook / [RIefeh

Correct Answer :-

« Foehn / %l

53) What part of a tidal cycle has minimal current? / SaRIT T% & e orT & cgodHd YRT

gt &2

1. None of these / S & aﬁé el
2. Flood tide / SaRIT dTe

3. Ebb tide / $TeT

4. Slack tide / & (Feleh) URT

Correct Answer :-

« Slack tide / & (Feldh) GRT

54) Which of the following is not a high cloud? / FFfaf@a & & Fla-A1 3= TEA (TS
FAT38) ALl 82



1. Stratus / T dEel (T¢TH)

2. Cirrostratus / G&TTH TI dicel (RRIF¢eH)

3. Cirrus / U&TTH arcer (FaTH)

4. Cirrocumulus / G&TTH Hurdl digel (FRARYFgHH)

Correct Answer :-

« Stratus / T Gl (F¢cH)

55) Which of the following is not a temperate Grassland or Shrub-Land Biome? / frafafaa
H q FiF gafiarsor aHTyd a1 SAEER a8 (Eds I ) a8 82

1. Sahara / eI
2. Veld / de3

3. Prairie / 9RY
4. Steppe / T4

Correct Answer :-

. Veld/do3

56) Al Aziziyah’, the hottest place on earth is located in which country? / T\‘a"f W qaH TH
T ‘3 3o fFe g # Rua @2

1. Libya / ohtferar

2. Sudan / 3Tl
3. Congo / &M

4. Nigeria / ATSSN AT
Correct Answer :-

« Libya / e

57) The Treaty of Bassein was signed by on December 31, 1802 with the British. / 31
fewey, 1802 garT et & WY AT A @ W gEanR Far = an

1. Yeshwantrao Holkar /W él@@q



2. Daulatrao Shinde /an @'Ié'
3. Ghasiram Kothwal / STHRTH hiddTel

4. Bajirao II / arsira 11

Correct Answer :-

« Bajirao II / arsfRra 11

58) Rama’s Bridge or Rama Setu is located in which among the following straits? / T T @T:l_,'
a1 T A fefaf@a & & fFa @ F Rya

1. Cook Strait / $b @1 WISl
2. Bering Strait / IR A Qrey

3. Palk Strait / Olch STelSHEHCY

4. Strait of Tebrau / CI® T WIS

Correct Answer :-

« Palk Strait / OTch STISHEHCY

59) E-learning in social science helps the students for: / I fagm A $-affn o « = A wee
PRl &

1. Simulated learning / HTAFA FTAIH

2. Rote learning / Hoed 3T

3. Learning by doing / fohaTdcler 3IQ9TH

4. Anytime and anywhere learning / &7 & 3R &g Y 31fYara

Correct Answer :-

« Anytime and anywhere learning / ®HT #T 3R FeEr ofr e

60) Where is Ring of Fire located? / T 3Tt BTOR Hgl (YA &2

1. Along the coast of Antarctic Sea / 3icIhicd APR & dc & a1y

2. Along the coast of Atlantic Ocean / 3TCelllcdh FEEWR & dc & 1Y

3. Along the coast of Indian Ocean / ﬁ»_q" HGIETIN % de & gy



4. Along the coast of Pacific Ocean / URTTd FEEWR & dc & 1Y

Correct Answer :-

« Along the coast of Pacific Ocean / YT HEAWR & dc & ATY



